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Indian Army general duty

COMMON ENTRANCE EXAMINATION FOR SOLDIER GENERAL DUTY

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

Arjuna Award is given to

alﬁq RW@R B3 fRasmar 3|
Outstanding sports persons / sl
Poets / wfaaf

Scientists / dmfAiap!

Actors / 3T

S

The main city of Kashmir Valley
is

PR u1é) BT 48T TR B
Pathankot / U8H®IC

Srinagar / SR

Kupwara / pUdrsi

None of these / 570 ¥ PIg 76!

Ao o

Which is known as the land
of Midnight Sun
‘et 37 BT G’ 6 A D) e T B2
a. Japan / SIa™E
b. Switzerland / fRacoRes
¢. Norway/ Aid
d. None of these / 80 3 ®IS 6!

‘Satyameva Jayate’ has been

taken from ......ccocueeeee

HRT ST ot A ferar wam 3
Mandukya Upanishad / HTogaufug
Rigveda / #1dg

Natyashastra / ATCIRIRA

Samveda / WRIdE

[xv]

o o

05. Chilika lake is situated in
foreer gt et fRua 2
a. Orissa/ 3fifS=m
b. Bihar/ S8R
c. Madhya Pradesh / e ug=t

d. None of these / 90 I DI A6l

06. Capital of Mizoram is
firsia 3 wtur w5l &2
a. Aizawl / goid
b. Shillong / R
c. Imphal / SHhIc
d. None of these / / 570 ¥ P 81

07. Bihu is the traditional dance
of which state?

fag forr 350 &1 TRaR® 90 &2
Bihar / S8R

Assam / STH

Punjab / geiTsl

None of these / 390 I HIS ¢!

a0 o

08. London is situated on the bank

e ... AP A RRET |
a. James/ S
b. Tames/ ¢/
c. Hames/ 8%
d. Thames/ 4=



09.

10.

11.

12

13.

14.

By using a map, you can

find

TP = BT IYN HIP 3ATT FT U7 Il
&

a. Distance / g3

b. Direction/ fg=m

c. Altitude / 3ari

d. All of these / sH 999

Who is the Supreme
Commander of the Armed Forces?

Y Tl BT Hars DHISY DI oIl 8?2

a. Chief Justice of Supreme Court / 3=
AT T G rardiar

b. Speaker of Lok sabha / clidgHI &bl
el

c. President of India / HRd &I

d. None of the above / IWRIad H d BIg Tol

Which is the deepest ocean in
the world
5 A g ¥ 9a9 TRT IR B §
a. Pacific Ocean / U2lid HEMIR
b. Indian Ocean / &g HERIFR
¢. Arabian Ocean / 3R HAGHTFR
d. None of these / 5T 4 ®Ig e

. India liberated Goa from the

Portuguese in

YR = M1 B Gehmieral & ©d Yad HIan
a. 1947

b. 1965

c. 1961

d. 1960

Paris is situated on the bank
of river

i frg At & e wRE

a. Seine /dH

b. Thames / 9%

¢. Volga /dr@m

d. None of these / 5H q I8 el

National Botanical Garden is

situated in which city
TR U RE P

et Fefa Semfed

a. Rewa /3l

b. Jaipur/ SHYR
¢. Chandigarh/ 98hTg
d. Lucknow / TRa13

15.

16.

17

18.

19

20.

Whatis HIN1
HIN1 FT 8
a. Cough /@i
b. Bird Flu/ &8 U,
c. Swine Flu /g4 U
d. None of these / 370 q D18 ol

What is laughing gas?
AT

a. Carbon dioxide / HIeH SEAHTBS
b. Sulphur dioxide / GehR 315 HdHIES
¢. Hydrogen peroxide / g5 oo WRIAHISS

1. Nitrous oxide / AIgcyH qHIZS

~

. The most important ore of

aluminum is

TgH I~ &1 Had Tyl 3P §
a. Bauxite / SiqIBC

b. Calamine/ &=l Sl

Calcite / euIge

d. Galena / I &1 D=l 4l

o

The gas used to extinguish fire is

3T g3 & e i A S137ah
T wirar 82
a. Neon /@M
b. Nitrogen / AgcreH
¢. Carbon dioxide / Bl SEHTGS
d. Carbon monoxide/ ST HHTA RS

. The mammal which lay eggs is

90 A I 1 WA Sfig 3wS T
a. Bat/dHIGS

b. Kangaroo / HIR=

c. Squirrel / fragdt

d. Duckbilled Platypus / wifeud

Laparoscopy is connected with

vt forad o1 gan 2

Radars / ¥SIR

Science of tissues / Sl ol fa=I

Study of laser beams / TIoR siH &I

Sy

d. Gynecological operations /9 Jfd=md
BEINE|

o ®

o



21.

22.

23.

24.

26.

The fourth state of matter is
vard @Y =eft s @

a. Solid /3

b. Liqud/@®d

¢. Plasma / wirsH1

d. Gas/9

Which of the following is a mixed
fertilizer?

50 A v fifdia Sdkw @

a. Urea/ gRal

b. Ammonium sulphate / 3T Tehe
c. CAM /diguH

d. NPK /u-die

Cow milk is a rich source of
g &1 g4 fpaeT I @
Vitamin A

Vitamin B /

Vitamin C / fqerfam
Vitamin D / fdetfiq St

/o oo

Typhoid is a disease of
TRUTES duR) Bl gidt §
a. Liver/dld&R

b. Lungs/W%Hs

¢. Stomach/Ue

d. Intestine / 3id

. The tooth with three roots is

7 gt 1 afa g 3

a. Maxillary Molar / @lg
b. Premolar / 3f<CIG

c. Incisor/ Pp-ddh

d. Canine /¥&dh

The saliva helps in digestion of
AR R e # Wa T aRar 8

a. Proteins / UI¢H

b. Fats /a¥r

c¢. Fibers / HigeR

d. Starch /%rd

27. Short sightedness is due to

28.

29.

30.

31.

puRiaT P aoEE

a. shifting of the iris / SIRI I Yaelt &1
RYFIAR]

b. weaker muscles / HHSIR HiGURwi

c. elongation of eyeballs / ATIcid &1
de-l

d. wéakening of the retina / =T &1
HHGIR BT

The weight of an average human
male brain is about

U 9O Yo UIRISH &1 3d I
farern giar 87

. lkg

1200 gms

1350 gms

1500 gms/

20

/e o

Water has maximum density at
urit o1 sifipan g fead g
4 0°C

b. 4 €

¢. 100°C

d 10°C

Which of the following diseases
usually spreads through air
fafiRad aon
w1 | Frear 82
a. Plague / @i

b. Typhoid /CIgWHISS

c. Tuberculosis / &4 0T
d. Cholera / g1

The ozone layer in the upper part
of the atmo gal_gre protects us fr%g
qrgHed BT e
T Tt &

a. visible radiations / & fafdor

b. infra-red rays / 3faRad fab=or

c. ultra violet rays / URT ST fopRor

d. cosmic rays / gl fabor

AT I AR W a1 P



32. Aviation fuel for jet aero planes
consists of purified
ga i 0 g g S @
a. Petrol / Ucral
b. Kerosene / fedda
¢. Gasoline / TNKefA
d. Diesel / Siod

33. Which of the following is not a gland?
P d d P R = 32
a. Stomacly Ue
b. Liver/ OR
¢. Kidney/ ¢
d. Pancreas/ Urdd-Ufy

34. Long distance photography
is facilitated by

ngﬁmﬁﬁ%ﬁvﬁmuﬁﬁm%mw

Visible light / UdbmRI

X rays / Gag-X

Infrared rays/ 2fdad fbor
Ultraviolet rays / URTsT} for

po o

35. In fireworks, the green flame
is produced because of
verEl § 5 3mT i aoTe | I B 32
a. Mercury/ URT
b. Sodium / TfgTH
c. Potassium / diefRray
d. Barium / SRz

36. Area of a rectangular ground is
12500m?. Its length is 125 m.
Its perimeter is

TP ATAATHR A BT &7 g3ueo WY arf
wmmm%ﬁmmﬁw

a. 450m
b. 100m
¢. 900m
d. 1250m

37.1f 10, 20, x and 40 are in a proportion,
the value of x will be
T 10, 20, x 3R 40 TP UM H § A x PT
T Td Bifora.

5

20

30

80

ac o

38. If 10th January, 2004 is Tuesday,
what will be the day on 10th?
January, 2005
ofe 10 &), 2004 B RAATEER 8, @
10 S, 2005 Dt fe=T Fam ghme?

a. Wednesday / §4dR
b. Thursday / TRFAR
c. Tuesday /HiTeAR
d. Friday/ JbharR

39. A cyclist covers 12 km in an hour.
What is his speed in meters per
Minute
TP AIEFa WER ¢ e W 23 fra iex e
& 4t Suat wis ez e st
a. 100 m/min/100 Hiex/fie
b. 220 m/min/ 220 Hie/fie
¢. 200 m/min/ 200 Heyfae
d. 300 m/min/300 Hie/fie

40. Speed of 1knvhr. is equal to
2 fpan ey a= 9t v frads arrar gifh
a. 60/1000 m/s
b. 3600/1000 m/s
c. 1000/3600 m/s
d. 1000/60 m/s

41. The cost of 18 bananas at the
rate of Rs 4 per dozen will be

2¢ BT Yo J1d Do afd ¢ gsfa &1



42. 12 men and 18 women can reap a field  46. 3 hrs and 45 minutes = ................

in 14 days, 8 men and 16 women Seconds
can reap the same field in 3EC AR 4sPAFE = ... Jds
R IPY 3R 2¢ AFEETE T W I Hers H oY a. 13500
f& &, Y aand B ¢ gou 3R 25 a. 18000
nfgang I Wa Ht werg # fra 3w di? b. 10800
a. 6 days c. 10500
b. 3 days
c. 10 days 47. 30% of 140 = x% of 840, then x is
d. 9 days a. S
b. 10

43. The average of the height of 5 c. 6
students having height 30, 40, 50, d 15
60, 70
STl Bt Sfred avars FT e afe 3P 48, Which one of the following is
TS SHHTT: 30, 40, 50, 60, 70 T equivalent of 6/20
a. 40 FeffRadas=
b. 50 /20 & TRTER &
B S a. 6%
d. 45 b. 20%

c. 206%
44. At what rate percent per annum will d 30%

a sum of money double in 8 years
yfaadf forer st @7 R i fdr ¢ wa A 49. The square root of 4096 by means

qrTt gt st of factors is
a. 12.5% 4096 fopa®T i@ &2
b. 25% a. 33
c. 006 b. 64
d. 10% c. 96
d 24
45. A man buys a toy for Rs.1000 and
sells it for Rs.1500. His gain 50. LCM of (2x3x5) and (3x5x7) is
percent is equal to

TP A1l U AT 000 TR AWHGATR  (2x3x 5 AR Gx5x )P A AT
3R 3 o0 = W A=ar 8, ) 3 fpa frad avmaR g

wir=ra &1 @ e a. 3

a. 331/3% b. 3x5

b. 50% 6. 2R3%5%T

c. 25% d. 2x3x5x3x5x7
d. 58%

https://www.freshersnow.com/previous-year-question-papers/



Answer Key:

1. V2 (b)V3.()/ 4@ 5 @6 @7 (b)v 8 (b)v9.(d)10.(c) 11.(a) v
12. (¢) v 13. (a) v 14. (d) v 15. (c) v 16. (d) v 17. (a) v 18. (c) v 19. (d) v 20. (d) v 21. (c) v
22. (d) v 23. @) ¥ 24. (d) v 25. (a) ¥ 26. (d) v 27. (d) v 28. (c) ¥ 29. (b) V 30. (c) v 31. (c) v
32. (b) v 33. (a) v 34. (a) v 35. (d) v 36. (a) v 37. (b) v 38. (b) v 39. (c) v 40. (c) ¥ 41. (b) v

42. (a) ¥ 43. (b)  44. (a) v 45. (b) ¥ 46. (a) ¥ 47. (a) v 48. (d) v 49. (b) v 50. (c) v
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